S5HEA

i O

b
o

31 33 (m)

T
(/n” )

SEAH

— 217 —

P218~P223



SEEH

EZDLUKE JIS G 3192

i
1 “y

—

#E JIS G 3191

D

HEWM JIS G 3192

B

T

t H

T JIS G 3194

\ 1L

s+i& (mm) M A HUSE Exm RBEE (ke

(t x A x B) (cni) (kg/m) 5.5m 6.0m 8.0m

3 x 20 x 20 1.127 0. 885 4.87 5. 31 7.08

3 x 25 x 25 1.427 1.12 6.16 6.72 8. 96

3 x 30 x 30 1.727 1.36 7.48 8.16 10.9

3 x 40 x 40 2.336 1.83 10. 1 11.0 14.6

4 x 50 x 50 3.892 3. 06 16.8 18.4 24.5

b x 30 x 30 2.746 2.16 11.9 13.0 17.3

b x 40 x 40 3.755 2.95 16.2 17.7 23.6

6 x 50 x 50 5. 644 4.43 24.4 26.6 35.4

6 x 66 x 65 1.521 5.91 32.5 35.5 47.3

6 x 75 x 75 8.727 6. 85 37.17 41.1 54.8

8 x 65 x 65 9.761 1. 66 42.1 46.0 61.3

9 x 75 x 75 12. 69 9. 96 54.8 59.8 79.7

7 x 90 x 90 12.22 9.59 52.7 57.5 76.7

7 x100 x100 13. 62 10.7 82.0 89.4 119

10 x 90 x 90 17.00 13.3 73.2 79.8 106

10 x100 %100 19. 00 14.9 82.0 89.4 119
- 5 &7 T E i HUSE Ecm AEE ke)

! D (mm) (cn) (kg/m) 5.5m 6.0m 8.0m

6 6 0.2827 0.222 1.1 1.33 1.78

8 8 0.5027 0. 395 1.98 2.37 3.16

9 9 0. 6362 0. 499 2.50 2.99 3.99

12 12 1.131 0. 888 4.44 5.33 7.10

13 13 1.327 1.04 5.20 6.24 8.32

16 16 2.011 1.58 7.90 9.48 12.3

19 19 2.835 2.23 12.3 13.4 17.8

22 22 3. 801 2.98 16. 4 17.9 23.8
b/16 7.938 0. 4949 0. 388 2.13 2.33 3.10
3/8 9.525 0.7126 0. 559 3.07 3.35 4.47
1/2 12.700 1.267 0.995 5. 47 5.97 7. 96
5/8 15. 875 1.979 1.55 8.52 9.30 12. 4
3/4 19. 050 2.850 2.24 12.3 13.4 17.9
1/8 22.225 3.879 3.05 16.8 18.3 24.4

1 25. 400 5.067 3.98 21.9 23.9 31.8

st & (mm) BT E AR HiEE E&m BEE (ke)

(t x B x H) (cnf) (kg/m) 5.5m 6.0m 8.0m
b x 40 x 75 8.818 6.92 38.1 41.5 55.4
5 x b0 x 100 11.92 9. 36 51.5 56. 2 74.9
6 x 65 x 125 17. 11 13.4 73.7 80.3 107
6.5 x 75 x 150 23.71 18.6 102. 3 112 149
9 x 75 x 150 30. 59 24.0 132.0 144 192
7 X 75 x 180 217.20 21.4 128 171
7.5 x 80 x 200 31.33 24.6 148 197
8 x 90 x 200 38. 65 30.3 182 242

sti& (mm) BT E AR HEE E&m BEE (ke

(t x h) (cnf) (kg/m) 5.5m 6.0m 8.0m
3 x 25 0. 7500 0. 589 3.24 3.53 4.1
3 x 32 0. 9600 0. 754 4.15 4.52 6.03
3 x 38 1.140 0.895 4.92 5.37 7.16
3 x 50 1.500 1.18 6.49 7.08 9.44
4.5 x 25 1.125 0. 883 4.86 5.30 7.06
4.5 x 32 1.440 1.13 6.22 6.78 9.04
4.5 x 38 1.710 1.34 1.37 8.04 10.7
4.5 x 50 2.250 1.77 9.74 10. 6 14.2
6 x 25 1.500 1.18 6.49 7.08 9.44
6 x 32 1.920 1.51 8.30 9. 06 12.1
6 x 38 2.280 1.79 9.84 10.7 14.3
6 x 50 3.000 2. 36 13.0 14.2 18.9
6 X 65 3.900 3.06 16.8 18.4 24.5
6 x 75 4.500 3.53 19.4 21.2 28.2
— 218 —




SEEN w

SUS304 AL JIS G 3192 SUS304
S & () BT HENES
@ x A x B) (ar) (ke/m) "=
T 3x 20X 20 1.127 0.895
3x 25X 25 1.427 1.13
A 3x 30X 30 1,727 1.37
3x 40X 40 2. 336 1.85
i % 4Xx 50X 50 3.892 3.09
7|ct 5x 40x 40 3. 755 2.98
6X 50X 50 5 644 4,43
FBHI 6X 65X 65 7327 507
6X 75X 75 8.721 6.92
SUS304 8 JIS G 3191 sSuUS304
: 5N B E R EXES o
D T & D (mm) (cni) (kg/m) i il
8 8 0. 5027 0.399
9 9 0. 6362 0. 505
10 10 0. 785 0.623
11 11 0. 950 0. 764
12 12 T.131 0. 897
13 13 1.327 1.05
14 14 7.539 1.22
15 15 1.767 1. 40
16 16 2,011 1.59
18 18 2. 545 2.02
19 19 2.835 2.25
20 20 3,142 2.49
22 22 3. 801 3. 01
SUS304 A#FHw JIS G 3192 sSUS304
< & () BT R HiEs
4 x'B x H) (c) (ke/m) "%
F—Bﬁ 4x 50%X100 7.823 6. 20
5x 40X 80 7. 548 5.99
T 6X 50x100 11.38 9.02
6X 65%Xx130 15.12 12.00
H 6X 75%Xx150 17.52 13.90
t 9x 75%x150 75.54 20.25
T0X100%X200 38.22 30.31
SUS304 8 JUIS G 3194 SUS304
TE (m) | WiEE | BuEs TE mm) | HiEE | BuEs
(txb) (cnt) (kg/m) (txb) (cnt) (kg/m)
3 x 25 0.75 0.595 5 x 38 1.9 1.51
3 x 30 0.9 0.714 5 x 40 2.0 1.59
N2 3 x 32 0. 96 0. 761 5 x 45 2.25 1.78
_ t 3 x 35 1.05 0.833 5 x 50 2.5 1.98
S 3 x 38 1.14 0. 904 6 x 25 1.5 1.19
||< b >|| 3 x 40 1.2 0. 952 6 x 30 1.8 1.43
3 x 45 1.35 1.07 6 x 32 1.92 1.52
3 x 50 1.5 1.18 6 x 35 2.1 1.67
4 x 25 1.0 0.793 6 x 38 2.28 1.81
4 x 30 1.2 0. 952 6 x 40 2.4 1.9
4 x 32 1.28 1.02 6 x 45 2.7 2.19
4 x 35 1.4 1.11 6 x 50 3.0 2.38
4 x 38 1.52 1. 21 6 x 65 3.9 3.09
4 x 40 1.6 1.27 6 x 75 4.5 3.57
4 x 45 1.8 1.43
4 x 50 2.0 1.59
5 x 25 1.25 0. 901
5 x 30 1.5 1.19
5 x 32 1.6 1.27
5 x 35 1.75 1.39

— 219 —



SEEH

I5VTRILE - XAy FRILMESR

' m)

JI1S 5kgf/en JIS 10kef/cr JIS 2o0kef/c
p RIL bk RIL bk AA vk 4 RIL k ALk PN 4 RIL bk RIL k AAy R
(% \ . N % \ o o % h -
BH | xw| 91z |2 || BH | xw| 4z |2 || B% | xy| 34z |2 &
10A 4 M10 x 40 50 10A 4 M12x 50 65 10A 4 M12x 55 70
15A 15A 15A
20A M10 x50 6 0 20A M12x 55 70 20A M12x 60 75
25A 25A M16x 55 25A M16x 60
32A M12 x50 65 32A M16x 60 75 32A — 80
40A 40A 40A M16x 65
50A M12 x 55 50A 75 50A 8
65A 65A M16x 65 80 65A M16x 70 85
80A M16 x 55 70 80A 8 80A M20x 75 95
90A 90A 90A
100A 8 M16 x 60 75 100A 100A
125A 125A M20 x 70 90 125A M22 x 80 105
150A M16 x 65 80 150A M20x 75 95 150A 12 M22 x 85 110
(175A) M20 % 70 90 (175A) 12 (175A) — — —
200A M20 x 75 95 200A 200A 12 M22x 90 115
(225A) 12 (225A) (225A) — — —
250A 250A M22 x 90 115 250A 12 M24 %110 —
300A 300A 16 300A 16 =
350A M22 x 90 115 350A 350A — —
400A 16 400A M24 x 100 125 400A — =
450A 450A 20 450A 20 — —
500A 20 500A 500A — =
550A M24 x 90 120 550A M30 x 120 150 550A — —
600A 600A 24 600A 24 — =
NEISA41LTRILMEER
JI1S 5kgf/en JIS 10kgf/ch
@ # | BILE ALk m # | DILE ALk
BH | x w| sax BH | xw| yax
40A 4 M12x 80 40A 4 M16x 90
50A M12x 90 50A M16 x 100
65A M12 x 100 65A M16x 110
80A M16 x 100 80A 8
100A 8 M16x 110 100A M16 x 120
125A M16 x 120 125A M20 x 130
150A 150A
200A M20 x 130 200A 12 M20 x 140
250A 12 M20 x 140 250A M22 x 150
300A M20 x 150 300A 16 M22 x 160
350A M22 x 160 350A M22 x 170

220 —




SEEH

& > E DR

® 1=/ 0h-E=BREMD>EHKRI O A— FOE(178)
0 — MREBIZETSRRELIFRE, KB, 274 Ty FUOIILARAARAFELENERET, ZORIT
AZ9BLTAvTAVRIUREVDLRBECANDIZIOHSELERK ST STz,

@ aA—tHoE=BREHDOESHEBY O A — MLE(27F)
AR OA—MUBEFEFNDLDIZ4BEHIN. ARELTFUB)DAHACOEMEFE>TLE>TIND,
LALREEIFTHAICEMMDLT, HOZTEMELTHEALTLEDT, FELHLLLFVATH D,

@ FIH-E=FpEMDHE

HoTHERNOBRKRE FIICFEAT, BEN S &SIk o1,

ATV LRABEOETERSR—&®

Vo] g B 0 R B B OBE # R H B85 & A &
- WHEIE., TR ERL, BB8RAL L TRE,
SUS 303 18Cr-8Ni-=$ ) o
T—R—EV. BTEY,
) RTULRM., MEAE LTRLEER. BRHRHE. —/
SUS 304 18Cr-8Ni . .
L& E. BFHH, ALk -FY 87 0°CET,
) 30 4DIBERRM. MHREEMEICEN, FRERLET
SUS 304L 18Cr-9Ni—{E£C
ELRVE R,
+ _ 304izCuZFmL. AEMIMEIFREZWE, SUS304
I SUS 304J3 18Cr-8Ni-2Cu ) . N X
M LSUSKNT £ DFREIRS T, AEMIARIL L - Fv b &,
= ) MEEEMEA S 09 SKYEBITE Y., EEIXMEMLE LT
T SUS 3108 25Cr-20Ni . .
A bhb EABL, 1,035CET,
~ ) WAKEIFLS, BREREIC304LYEBNE-THEBELH D,
% SUS 316 18Cr-12Ni-2. 5Mo N
2 L E#H,
] 31 6NWERRM. 316NDHHEICHAMREREZLE
SUS 316L 18Cr-12Ni-2. 5Mo—{E&C
=+tm,
o TiZEHRML. MARBEEZSO-H0D, EMHERAICIEHE
SUS 321 18Cr-9Ni-Ti
BTELL,
) 304ICCuZzFMLUARMIMtOE EER --HE, AR
SUS XM7 18Cr-9Ni-3. 5Cu L
E&EA, ML, RIL b, Fr v TR a—,
5 EEMNODARMTE LWMELEELKZL., 2—EVH, EA
z SUS 405 13Cr-At o
_ REB&. V5 v F#,
7
=t MEEOENT-ITA GL) AfEH, BENER. 71411 —F
= SUS 430 18Cr N _ I
™ —H%. REARE. REHR.
~ ) A—EVIL—FRUBGBABRE LTRIFGRT VLR
% SUS 403 13Cr—{&Si
v T - i EAEH
1> BIFATANE. BEMIKEsE>, —BARA. IME.
~ SUS 410 13Cr
EX

OXTULRRLOMLY PHEFEIZONT

ATULRRLICEMA LY PHER/ENEIYFVEVSRANH D, FITF—XTF 1 FRIZEZL,

AT UL REFERMICEANTRERERNE <. BREERNEL,
(304NHZEEBMICLLRTHEIF/IRAICC L, BITHLTH 1. 5H/EMBRUZL, )

BREGRAICCVWSRIT, BRIZHLTHUZWV EF, RCEBBHETORR. WERAKREVNI L0, MHOBRRANE {PboME

Oz, BERIN/ECY., ChoDERNELY H->T, ALYLHERZEFTRZLTLESIBDEEZLND,

BERBLEOFOICFZRILE) TT R EDHBMANRNTH S,

— 221




SEEH

EREENE—EX
3 I Ei| 5 #H it &% $A z z = b i 5 R
1k ¥ ¥ (4 AN
c |a|* AL R
L L T Z
(03 = = % = E [ J |
| $8 A A 17 5
& B & # | 8 | 2 | 4
1% By By © k
1 (3 & & & & & & & & & & & &
A B SGP | vP su PC TN |CI1P| cu | sch su G E VE SP
6 1/8 10.5 6.35
8 1/4 13.8 9.52
10 3/8 17.3 15 12.70
13 18 15. 88
14 18
15 1/2 21.7 25.7 15. 88 21.7
16 22 21.0 22
19 5/8 19. 05 19.0
20 3/4 27.2 26 31.2 22.22 | 21.2 22.22
22 26.5 26
25 1 34.0 32 37.6 28.58 | 34.0 28. 58 25.4
28 33.3 34
30 38 34.00
31 31.8
32 | 11/4 | 427 46.3 34.92 | 42.7
36 41.9 42
39 38. 1
40 | 11/2 | 48.6 48 52.2 63 41.28 | 48.6 42.70
42 47.8 48
50 2 60. 5 60 54 64.1 | 75~76 [ 62 53.98 | 60.5 48. 60
51 50. 8
54 59. 6 60
60 60. 5
63 63.5
65 | 21/2 | 76.3 76 68 79.9 | 91~92 66.68 | 76.3
70 75.2 76
75 89 80 104~105| 84 76. 30 76. 2 78
80 3 89. 1 92.7 79.38 | 89.1 89.10
82 87.9 89
90 31/2 | 101.6
92 100.7
100 4 114.3 | 114 106 | 118.3 [131~132[ 109 | 104.78 | 114.3 | 114.3 103
104 113.4
125 5 139.8 | 140 134 | 143.8 [158~159| 134 | 130.18 | 139.8 | 139.8 128
150 6 165.2 | 165 165 | 170.2 [185~187| 159 | 155.58 | 165.2 | 165.2 153
175 7 190.7 178
200 8 216.3 | 216 221.3 212 | 206.38 | 216.3 | 216.3 203
225 9 241.8 228
250 [ 10 267.4 | 267 266 | 257.18 253
275 278
300 | 12 318.5 303

222




SEEH w
it X = JE= S E GELUE) BIEENE
T e st e Ty e R SoE |mariaTITVE
25 1 45 10 13.0 13.0
30 11/4 51 13 17.0 17.0
40 11/2 61 63 62 61.5 64.5 16 21.0 21.5 22.0
50 2 13 75 14 74.2 78.6 18 23.0
65 21/2 89 91 90 91.2 94.6 20 27.0 27.0
75 3 102 104 102 104.1 108.0 22 27.5
100 4 129 130 129 129.8 133.8 25 30.5
125 5 156 157 156 158.8 161.0 28 34.0
150 6 183 183 182 185.2 186.0 30 36.5
36 42.0
BAAENE (HESNE)
ZE W T & W E =
A B 94979 J)J—I)L
8 1/4 14 15
10 3/8 17 19
15 1/2 20 23
19 5/8 217
20 3/4 28 31
25 1 38
BEEER(SGP)
# IE 5 & A E [ES BEE &= (ke/m
A B (mm) (mm) (mm) (5 7K
15 1/2 21.7 16. 1 2.8 1. 305 0. 204
20 3/4 27.2 21.6 2.8 1. 685 0. 366
25 1 34.0 27.6 3.2 2. 431 0.598
32 11/4 42.7 35.7 3.5 3.384 1. 001
40 11/2 48.6 41.6 3.5 3.893 1.359
50 2 60.5 52.9 3.8 5.314 2.198
65 21/2 76.3 67.9 4.2 7.468 3. 621
80 3 89.1 80.7 4.2 8. 794 5.115
100 4 114.3 105.3 4.5 12.190 8.709
125 5 139.8 130. 8 4.5 15. 020 13. 437
150 6 165. 2 155.2 5.0 19. 750 18.920
200 8 216.3 204.7 5.8 30.110 32.910
250 10 267.4 254.2 6.6 42. 450 50. 750
300 12 318.5 304.7 6.9 53.020 72.920
350 14 355.6 339.8 7.9 67. 741 90. 685
400 16 406. 4 390. 6 7.9 77.638 119. 827

223




MEMO

WIOY

— 224 —



